ZHRETLOBEDHEDARIZONT (SH2E4A18HE)

A NFEERESSEDIE2IFICEIE, FERLOBEDOHITOLNTARLET,

TEUEIAH R
F (SRS DB
= (N) (%) B4 (N) (N) (%) ER
= 40
HEm 3
1} |ERMEEEEITOIBE 48 18.1
REL 3
REEER 2
= 33
94 355 FERK
HEm 2
= N REL 2
BICEEOMBXIRBRELELT
2% pagatel 46 174
DEBEITOIBH %ETE 1
B A RET GERHEERRA) 1
BlEEF(ERREERBE) 7
FE 33
FEBER 3
FEOBHF =
*ERBOBS TERAL °
38R %E‘iggjgﬁz 48 181 | TEEERE 2 48 181 | TE®
BHTEOBE :
TERELOBE REEE 1
FEXEL 1
FEOLAA LEERBE) 2
FE 38
®RE 1
FEDBHF
4R (BREROBHE 48 181 |REEMA 5 48 18.1 FER
(B EETIEMBE OB
REFEME 3
XEHME 1
EEOmE ‘ ER 3
54, %Eg%ﬁ%@'éiﬁo)ﬁﬁ 49 185 |£BTE 15 49 185 | =E#®
BREE OB FE |
ZE 12
RITEE 1
AFORE. SERUTROBH T# °
ittt BUEHEHE 2
BEFBREOBE o . srtEEE 1
o [BAZAXBBROBARR.BE| 44 9.8 26 98 | BEMK
RUEBOBE p——— 1
BERERBHERROBHE = 5
BEREERERBERROBHE .
EAZEEBREDRE BAERE 1
BEZERBHREER 1
EXETHERELETHERE 1
EEFEEERE 1
&&t 265 100.0 265 265 100.0




REESBRERMER

EE AR LRI R aat 2E B b D ER S
= (SRS DB
= (N) (%) B4 (N) (N) (%) ER R
H¥a 12
1R | B 14 100 14 1000 | H¥HE
B8 (LA LBIAKE) 2
&t 14 100.0 14 14 100.0




